| Question |  |  | Answer | Marks | AOs |  | Guidance |
| :---: | :---: | :---: | :---: | :---: | :---: | :---: | :---: |
| 12 | (i) |  | C is (1, -1) | $\begin{aligned} & \text { B1 } \\ & \text { [1] } \end{aligned}$ | 1.1a | Cao |  |
|  | (ii) | A | EITHER Substitute $y=\frac{3}{4} x-8$ into the equation of the circle $\begin{aligned} & (x-1)^{2}+\left(\frac{3}{4} x-8+1\right)^{2}=25 \\ & x^{2}-8 x+16=0 \end{aligned}$ <br> EITHER $(x-4)^{2}=0$ <br> OR $\text { Discriminant }=(-8)^{2}-4 \times 1 \times 16=0$ <br> So the equation has a repeated root so the line is a tangent | M1 <br> M1 <br> A1 <br> A1 <br> [4] | 3.1a <br> 1.1a <br> 1.1b <br> 2.2a | AG <br> Attempt to eliminate one variable <br> Attempt to expand and collect terms to obtain 3 term quadratic expression A correct 3 term quadratic <br> Clearly argued |  |
|  | (ii) | A | OR Substitute $x=\frac{4}{3} y-\frac{32}{3}$ into the equation of the circle $\begin{aligned} & \left(\frac{4}{3} y-\frac{32}{3}-1\right)^{2}+(y+1)^{2}=25 \\ & y^{2}+10 y+25=0 \end{aligned}$ <br> EITHER $(y+5)^{2}=0$ <br> OR <br> Discriminant $=10^{2}-4 \times 1 \times 25=0$ <br> So the equation has a repeated root so the line is a tangent | M1 <br> M1 <br> A1 <br> A1 <br> [4] | 3.1a <br> 1.1a <br> 1.1b <br> 2.2a | AG <br> Attempt to eliminate one variable <br> Attempt to expand and collect terms to obtain 3 term quadratic expression A correct 3 term quadratic <br> Clearly argued |  |
|  |  | B | $x=4$ and $y=-5$ so B is (4, -5) | $\begin{aligned} & \hline \text { B1 } \\ & \text { [1] } \\ & \hline \end{aligned}$ | 1.1a | Cao |  |


| Question | Answer | Marks | AOs |  | Guidance <br> (iii) |
| :---: | :--- | :---: | :---: | :--- | :--- |

